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lll Semester B.C.A. Examination, Novem 201 3

(Fresh + Repeaters) (2012-13 and O
LANGUAGE SANSKRIT (PaPer - lll)

Naganandam (l-lll Acts) and Comprehension

Time : 3 Hours Max. Marks : 100

lnstructions : 1 ) Answer in Sanskrit /Kannada/English.
2) Question Nos. I and Vll should be answered in Sanskrit

onlY.

l. qErtrr sT{T{i Tf,{TFT TiTEilTIqqT ftrs-A t

ddndCdds- dad& d#ed icdddo- ero$oa.

Answer any fifteen questions in Sanskrit.

1) E$qzl+{q rrrdTfr erfr i
2) qllr+< qTze qfr eilgr: €fr ?

3) frql-*H rlq f*1 ?

+1 dqr*roru ftm q' ?

5) q-f,T{ft 5e etiqrqqfr z

6) ilrrTa-<{rd+ qffi{: oqtq 3Tftr*-s {dA ?

4 qlTsqnrtid ftqEq g{sl: f* silsutqR t

ilb{' 3fi fih frrlaar: ?

qlffiuaT qeqrfr g,* qaft i
qTfir;ilfrreqi m*q fu flzffi; ftrc'fr ?

8)

e)

10)

(1x15=15)

11) flq-flqg: eFi Yl, ?

12) ftE{ryref Eft{dqm' th e-efr ?

tSl SqrarA-+w 6qagq+Tr 4T ?

14) k{rs' faq'f F**i wfr i
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15) 'ffiqqnTftqgq' - Sfrm: qqft ?

16) ftqef rdq-dfr 6'a qni 3{dqft ?

14 frcs*H*1 i
18) gEqft:6: ?

1e) +&*quffi ?

zol uvrftarfr q{r$ m; <srq ?

ll. ad: vr+q)' smuFr fud I (2x12=24)
ddnddddo_ oddr d#ed errrdo:,:

Answer any two of the following questions :

tl dqeirc tn-ers-lF-ft: sTFry-iq- l,q*Tfri frc-d I

ddrddrdd d ed- ;o e.l- dro dde$ dro* { u c fr dB odd: udor:o.
write an essay on Harshavardhana's place, date and works.

2) qrim<-qrcm-tri Mrr.+' eyiui fusa r

an ria do d 6E Bdd q e e cJa oddd.g* od: od:m rdd { dod o:.i1 u d or o.
write a critical appreciation on the ll Act of Mgananda.

g) qET{eT- qrdfuri gs-d I

d;eio$dso:: ao$d{dge.
Sketch the character of Malayavathi

lll. gfr: Ymtsql: qgilE ?-€T fl*gga r (2x6=12)
oddr dgeddddierd>anO:r ado:r :

Translate and explain any two of the following verses :

1) frua-{ ffi fr' W gB qQrT fuilqi fth aqr
T(fqlElvd, gti g =plil dTd{zi fii; uq+ r

fh Ud Tdi{A Tfrrd T{-frffi w {.t: ?

3drtlRi:Is-g@ofrE3q: rt

2) &{r qfrftt+i s*:aqePnfr-dT g{, r

EEqT ErzeT 
jffi{i qfr dqEisa fr-e-q. rr
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3) w,trrT qfr f**iqrlzffiig; qed Ei-
qi'ft +q {sl-ffii {trTIFr q[q Edser, ftrt t

wfu$, q-*Er;q-qrftrqfr-S frilrert tfui
w-(ftrertrqT qrfr Br5dt fr-fl' nftrarfiliT: I

4) qfr-t q$e<rfu qrffiTerq"f,d{l

gs tr<Egqnqni$TEtmi ffit I I

tv. qfiE{ Tflqrq-FI 3ryrii $.6" I (1x8=8)

t odc ddrrnrlddled:aad dna:
Translate any one of the prose passages.

1) +5i - (uquTql ) (q-ffi+ ! fui uq qr+r;FII: gn) a qftxlsva<rq], ?

ilfr-sT - (qlfh*rq.) 6-S tSdlti<r.S{-d}*.Tisrffinl: 3pqEffi?i; qRqq: 
t

+e- TdEirit I 13 qqTft ffi-ffiT fiqrwqT, 5a} efteq ? qr q-nq;d

erci q-;q-+rqE @ 3{-g,rfr q i !ffid <qtqft I

fd-qtq : - H=fsl E-AqT, fr'q iqrrqt i
qr€ffi': * q1Elq, ? Frdxrin; $affi; rr{fr |

sTeItIT/eCaca /OR

2) fril-qg: - (uk+) g,qn foxqg, $lqfr |

t8 - mi<Tftt r eri'rfr *raf frzrqg: t

qTfrrsT- frii t t

;{pffi;- ftHiqai !3T&SrlafrMfrrqi-qE: ?

frereg: - Wifr dkl: I dmierffi rqnsmTflfr-drrra: I

qrls: - frfrlE r*rqr1 ?

ftxqg:- (qrq){dqr6 - d( 1 'ufrirreqq-ftilqoqi$ffi.qis{rd{tq
ftairqrqqs r €T wn gtzi sftmTiltr r xfr'5ooq' Efr t

iA - (e6{q) trffit !thqeqs<rfr t

qTfr.-fl - (*iRdeo-w.e 3i,}g.df Rrdi) 6-5i !qteg, frfuiiegf,gr;{€ cql
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v. TgrTf sa6ef fd{"Jd I

N"o,f, iod?,,ir iad ado,l:TB
Annotate any four of the following :

i) lsrE qS qHB) rrwi EMfr {Ts*?

2) lft e?Nq ! o: gqtq dqH.Trqfr ?

g) €fu ! m *qq I Bsur: E-caq qEeft+eqro-a: 
t

a) ffiqrf,s ! gnlsa rqqiftror ?

s) q-{ffiHrrar
6) *qqT{rTq fu-€ g5*ri {IGqqii5rfr( |

vl frqzreqqfYfl,€' Egfuqutr frso r

aCC*: Adcf)i\9ri od.; ujied udolro:
Write shorl notes on any two :

t) qr-*

^r E.-=.-.*Jl lqcc\t{+:

2) ftz:

4) funeg:

vll. Eri qftdE qk€T srrl-{isrf,{Tfri ftrsa r

!t!!ilff ltillflilllilililtililill

(4x4=l$;

(2x5=10)

(3x5=15)
ql{dhT ' 3il{qr* ta: I 3Tg^ tw,s sfl{ rTii r*d'{lsr: frqrffq: ffi 1 frq-rf,qe. ;

€EqhT qffi guqffire-R r eftsn:, E{T*n: qEft+j t-arffifi sfrqTfr r

ftqrmq, rsiRr*+i sqqTerqq I Ts.r, rTrfrtpft, 3t1p6t;rq1, q.r6* q1gII - gk-ff 
r

qrrtr{q ERr.iqTn ft([6rsr"R: qfr'qrli 3i{-dw,, {.f*Trt effdqErsrrcr, mfti t

t$r&qT: rtTfrfuqr; sTffi{: EH{ft-mRq I

T{{T :

1) rrdanq: $T td{rqA ?

2) fldqle{q RrdTfr Wqffir Hrfr ?

3) flFqrfiq: H-€r srm+efiqq ?

4) vrms ERrqqrt s: Hrl-{: {da ?

5) qTCdq, fi{vn; qfr ?


